
General Awareness - Part 1 
 

1. How many languages are there in the Eighth Schedule of the Constitution of India ? 

(A) 16 

(B) 18 

(C) 20 

(D) 22 

Ans : (D) 

 

2. Article 340 of the Indian Constitution deals with— 

(A) Backward Classes Commission 

(B) Election Commission 

(C) Union Public Service Commission 

(D) Finance Commission 

Ans : (A) 

 

3. In which year ‘Advocate’s Welfare Fund Act’ was enacted by Parliament of India ? 

(A) 1999 

(B) 2001 

(C) 2003 

(D) 2008 

Ans : (B) 

 



4. In which one of the following cases it has been held that prohibition on sale of eggs within municipal 
area of Rishikesh is not violative of Article 19(1)g of the Constitution ? 

(A) B. R. Enterprise Vs. State of U.P. 

(B) Sreeniwas General Traders Vs. State of Uttarakhand 

(C) Om Prakash Vs. State of U.P. 

(D) C. K. Jain Vs. State of Uttaranchal 

Ans : (C) 

 

5. ‘Right to Information’ is defined under— 

(A) Section 2(f) of the Right to Information Act, 2005 

(B) Section 2(j) of the Right to Information Act, 2005 

(C) Section 4 of the Right to Information Act, 2005 

(D) Section 2(b) of the Right to Information Act, 2005 

Ans : (B) 

 

 

6. In Uttarakhand Legislative Assembly one member is nominated from— 

(A) Christian Community 

(B) Muslim Community 

(C) Anglo-Indian Community 

(D) Parsi Community 

Ans : (C) 

 

7. A Supreme Court’s Judge retires at an age of— 

(A) 58 years 

(B) 70 years 



(C) 62 years 

(D) 65 years 

Ans : (D) 

 

8. Who is the head of the ‘State-Executive’ ? 

(A) The State Legislature Assembly 

(B) The State Cabinet 

(C) The Chief Minister 

(D) The Governor 

Ans : (D) 

 

9. Case of I. R. Coelho V. State of Tamil Nadu is related with— 

(A) Judicial review of Article 356 of the Constitution 

(B) Judicial review of Article 226 of the Constitution 

(C) Judicial review of Ninth Schedule Laws 

(D) Judicial review of action taken by Speaker under Article 105 of the Constitution 

Ans : (C) 

 

10. Humanisation and decrimanisation of attempts to suicide was recommended by— 

(A) 210th Report of Law Commission 

(B) 212th Report of Law Commission 

(C) 216th Report of Law Commission 

(D) 215th Report of Law Commission 

Ans : (A) 

 



11. Jaya Bachchan V. Union of India, A.I.R. 2006 S.C. 2119 is related with— 

(A) Article 102(1)(a) of the Constitution 

(B) Article 109 of the Constitution 

(C) Article 190 of the Constitution 

(D) Article 226 of the Constitution 

Ans : (A) 

 

12. Joint Meeting of both Houses of Parliament is chaired by— 

(A) President of India 

(B) Chairman of Rajya Sabha 

(C) Speaker of Lok Sabha 

(D) None of the above 

Ans : (C) 

 

13. Who among the following was the Chairman of the Sixth Pay Commission ? 

(A) Justice A. K. Majumdar 

(B) Justice B. N. Srikrishna 

(C) Justice A. R. Lakshmanan 

(D) Justice R. C. Lahoti 

Ans : (B) 

 

14. ‘www’ on the internet stands for— 

(A) Words Words Words 

(B) Wide Word Words 

(C) World Wide Web 



(D) When Where Why 

Ans : (C) 

 

15. To which of the following companies, the Delhi High Court has ordered to remove its ‘Logo’ ? 

(A) Pepsico India 

(B) TISCO 

(C) Reliance Petrochemicals 

(D) None of the above 

Ans : (A) 

 

16. The Article of the Indian Constitution which automatically become suspended on Proclamation of 
Emergency is— 

(A) Article 14 

(B) Article 19 

(C) Article 21 

(D) Article 32 

Ans : (B) 

 

17. Which State in India implemented the ‘Panchayati Raj System’ first ? 

(A) Rajasthan 

(B) Maharashtra 

(C) Bihar 

(D) Uttar Pradesh 

Ans : (A) 

 

18. In India, which institution holds ultimate authority to accept ‘Five Year Plans’ ? 



(A) Planning Commission 

(B) National Development Council 

(C) Central Cabinet 

(D) Parliament 

Ans : (B) 

 

19. On whose recommendation the financial distribution between the ‘Union’ and ‘States’ takes place ? 

(A) The Finance Commission 

(B) The National Development Council 

(C) The Planning Commission 

(D) The Inter-State Council 

Ans : (A) 

 

20. Who is to certify that any bill is a Money Bill ? 

(A) Finance Minister 

(B) Speaker of Lok Sabha 

(C) Prime Minister 

(D) None of the above 

Ans : (B) 

 

21. The Court which has jurisdiction over election disputes under Section 80 of the Representation of 
People Act, 1951 is— 

(A) Supreme Court 

(B) High Court 

(C) District Court 

(D) Election Tribunal 



Ans : (B) 

 

22. Who can remove Election Commissioner from his office ? 

(A) Chief Election Commissioner 

(B) Prime Minister 

(C) Home Minister in the same way as the Judge of the High Court can be removed 

(D) President of India on the recommendation of Chief Election Commissioner 

Ans : (D) 

 

23. In which of the following cases constitutionality of the Central Educational Institutions (Reservation 
in Admissions) Act, 2006 was challenged ? 

(A) Ashok Kumar Thakur Vs. Union of India 

(B) Ashok Kumar Vs. State of U.P. 

(C) Ashok Kumar Thakur Vs. State of Bihar 

(D) None of the above 

Ans : (A) 

 

24. How many times the emergency has been proclaimed in India on the ground of internal disturbance 
? 

(A) Once 

(B) Twice 

(C) Thrice 

(D) Never 

Ans : (A) 

 

25. In which year financial emergency was proclaimed under Article 360 in India ? 



(A) 1962 

(B) 1965 

(C) 1975 

(D) Never 

Ans : (D) 

 

26. Who appoints the Chairman of the State Public Service Commission in India ? 

(A) The President of India 

(B) The President of India in consultation with the Governor of the State 

(C) The Governor of the State 

(D) Chairman of Union Public Service Commission in consultation with the Governor 

Ans : (C) 

 

27. By which Amendment of the Indian Constitution Sikkim was included as full-fledged State of the 
Indian Territory ? 

(A) Thirty-Second Constitutional Amendment 

(B) Thirty-Sixth Constitutional Amendment 

(C) Forty-Fourth Constitutional Amendment 

(D) Forty-Second Constitutional Amendment 

Ans : (B) 

 

28. Under hich Article of the Constitution of India, Parliament may admit a new State in the Indian Union 
? 

(A) In Article 1 

(B) In Article 2 

(C) In Article 3 



(D) In Article 4 

Ans : (B) 

 

29. Which of the following is not mentioned in Directive Principles of State policy under the Constitution 
of India ? 

(A) Right to adequate means of livelihood 

(B) Right to equal pay for equal work 

(C) Promotion of international peace and security 

(D) Free and compulsory educationfor children upto fourteen years of age 

Ans : (D) 

 

30. The Charter of the United Nations was signed at San- Francisco on— 

(A) June 26, 1945 

(B) August 15, 1943 

(C) January 26, 1946 

(D) December 30, 1941 

Ans : (A) 

 

31. Where the head office of the United Nations is situated ? 

(A) Washington 

(B) Geneva 

(C) New York 

(D) The Hague 

Ans : (C) 

 

32. How many members are in the Security Council ? 



(A) 5 

(B) 9 

(C) 10 

(D) 15 

Ans : (D) 

 

33. Which one of the following Article of United Nations Charter is related to the procedure of voting ? 

(A) Article 16 

(B) Article 18 

(C) Article 10 

(D) None of the above 

Ans : (B) 

 

34. Which one of the following is not one of the principal organ of United Nations ? 

(A) Economic and Social Council 

(B) Trusteeship Council 

(C) International Labour Organization 

(D) International Court of Justice 

Ans : (C) 

 

35. Two official languages of the United Nations are— 

(A) English and Hindi 

(B) English and German 

(C) English and Urdu 

(D) English and French 



Ans : (D) 

 

36. The Directive Principles of State Policy in the Constitution of India have been taken from which one 
of the following ? 

(A) The Constitution of Ireland 

(B) The Constitution of United States of America 

(C) The Constitution of Australia 

(D) The Constitution of Canada 

Ans : (A) 

 

37. P’s passport was cancelled by the authority without giving him any reasonable opportunity of being 
heard which was mandatory. In such case— 

(A) A writ of mandamus can be issued 

(B) A writ of mandamus cannot be issued as the authority has no obligation to act fairly 

(C) Since cancellation of passport is always done in interest of security of India, no one can challenge the 
cancellation 

(D) A writ of prohibition can be issued 

Ans : (A) 

 

38. The maximum period of continuation of emergency under Article 356 of the Indian Constitution is— 

(A) 3 years 

(B) 6 months 

(C) 1 year 

(D) 2 years 

Ans : (A) 

 



39. Which one of the following Schedule was added in the Constitution by the 73rd Constitutional 
Amendment ? 

(A) Schedule XII 

(B) Schedule VI 

(C) Schedule XI 

(D) Schedule IX 

Ans : (C) 

 

40. The procedure for the removal of Supreme Court Judge is given in— 

(A) Article 124 (4) 

(B) Article 124 (5) 

(C) Article 125 

(D) Article 126 

Ans : (A) 

 

41. Participation of workers in management of industries is provided under Indian Constitution— 

(A) In Article 44 A 

(B) In Article 48 A 

(C) In Article 43 A 

(D) In Article 45 

Ans : (C) 

 

42. Article 21-A was added in the Constitution by— 

(A) 86th Constitutional Amendment 

(B) 88th Constitutional Amendment 

(C) 89th Constitutional Amendment 



(D) 90th Constitutional Amendment 

Ans : (A) 

 

43. Socialist and secular words were added in the Preamble of Indian Constitution by— 

(A) 44th Amendment 

(B) 42nd Amendment 

(C) 45th Amendment 

(D) 48th Amendment 

Ans : (B) 

 

44. Which one of the following Articles of Indian Constitution is not related to the environmental 
protection ? 

(A) Article 48 A 

(B) Article 51 A(i) 

(C) Article 51 A(g) 

(D) Both (A) and (C) 

Ans : (B) 

 

45. In International Court of Justice, there are— 

(A) President and 15 other members 

(B) President, Vice-President and 15 other members 

(C) President, Vice-President and 14 other members 

(D) President, Vice-President and 13 other members 

Ans : (D) 

 

46. International Human Rights Day is celebrated on— 



(A) 26th January 

(B) 10th December 

(C) 14th July 

(D) 26th November 

Ans : (B) 

 

47. The Headquarters of International Court of Justice is at— 

(A) New York 

(B) Geneva 

(C) The Hague 

(D) Paris 

Ans : (C) 

 

48. Sarkaria Commission was set up for the review of relations between— 

(A) The Prime Minister and The President 

(B) Legislature and Executive 

(C) Executive and Judiciary 

(D) Centre and States 

Ans : (D) 

 

49. Under which Article of the Constitution the Inter-State Council is constituted ? 

(A) Article 254 

(B) Article 260 

(C) Article 263 

(D) Article 267 



Ans : (C) 

 

50. By which Amendment of the Constitution the Service Tribunals were established ? 

(A) 39th Amendment 

(B) 44th Amendment 

(C) 40th Amendment 

(D) 42nd Amendment 

Ans : (D) 

 

51. Which of the following countries is a land locked country in south America? 

a. Ecuador 

b. Peru 

c. Uruguay 

d. Bolivia 

Ans : d 

 

 

52. Canary Islands belongs to 

a. Norway 

b. Spain 

c. New Zealand 

d. Portugal 

Ans : b 

 

 



53. Titan is the largest natural satellite of planet 

a. Mercury 

b. Venus 

c. Saturn 

d. Neptune 

Ans : c 

 

 

54. Which of the following planets rotates clock wise? 

a. Pluto 

b. Jupiter 

c. Venus 

d. Mercury 

Ans : c 

 

 

55. A difference of 1 degree in longitude at the Equator is equivalent to nearly 

a. 101 km 

b. 111 km 

c. 121 km 

d. 125 km 

Ans : b 

 

 

56. The earliest known Indian script is 



a. Mori 

b. Devanagari 

c. Brahmi 

d. Kharosti 

Ans : c 

 

 

57. How many times the preamble was amended 

a. once 

b. twice 

c. thrice 

d. four times 

Ans : a 

 

 

58. The term socialist was added in the Preamble by the...amendment 

a. 40th 

b. 42nd 

c. 44th 

d. 49th 

Ans : b 

 

 

59. The state with the lowest population in India is 

a. Goa 



b. Tripura 

c. Mizoram 

d. Sikkim 

Ans : d 

 

 

60. Which person or organisation received the Nobel Prize three 

times so far? 

a. Medame Curie 

b. Linus Pauling 

c. Alexender Flemming 

d. International Committee of the Redcross 

Ans : d 

 

 

61. The Finance Commission is appointed for every... year 

a. 3 

b. 4 

c. 5 

d. 6 

Ans : c 

 

 

62. Under which five year plan did agriculture show a negative growth? 

a. 1st plan 



b. 2nd plan 

c. 3rd plan 

d. 4th plan 

Ans : c 

 

 

63. Who is the founder of the Capital city of Agra? 

a. Akbar 

b. Babar 

c. Sikinder Lodi 

d. Mubarak Shah Sayyad 

Ans: c 

 

 

64. The first tide generated electricity project was established at 

a. Vizhinjam, Kerala 

b. Mangalore, Karnataka 

c. Paradeep, Orissa 

d. Vishakapattanam 

Ans : a 

 

 

65. National Institute of Oceanography is located in : 

a. Calcutta 

b. Chennai 



c. Mangalore 

d. Panaji 

Ans : d 

 

 

66. The 2004 Olympics were held in : 

a. Bangkok 

b. Rome 

c. Athens 

d. Nagasaki 

Ans : c 

 

 

67. Who headed the committee appointed on Kargil War ? 

a. Gen. V. P. Malik 

b. Gen. S. K. Sinha 

c. K. Subramanyam 

d. K. C. Panth 

Ans : c 

 

 

68. The C. K. Nayudu Trophy is related to the sport of 

a. cricket 

b. Hockey 

c. Football 



d. Chess 

Ans : a 

 

 

69. New York is situated on the river 

a. Hudson 

b. Thames 

c. Danube 

d. Tigris 

Ans : a 

 

 

70. "The Woman of the Millennium" selected by the British Broadcasting Corporation (BBC) is 

a. Margaret Thacher 

b. Hillary Clinton 

c. Chandrika Kumaratunga 

d. Indira Gandhi 

Ans : d 

 

 

71. The General Assembly of United Nations meets 

a. Once a year 

b. twice a year 

c. thrice a year 

d. Once in five years 



Ans : a 

 

 

72. The "Common Wealth Games 2002" will be held in 

a. Toranto 

b. Manchester 

c. Tokyo 

d. Canberra 

Ans : b 

 

 

73. All India Radio commenced operations in 

a. 1926 

b. 1936 

c. 1945 

d. 1947 

Ans : b 

 

 

74. The "Killer Instinct" is written by 

a. Sulakshan Mohan 

b. M.K.Santanam 

c. O.P.Sabharwal 

d. Subash Jain 

Ans : c 



 

 

75. The Secretary-General of UN is appointed by the 

a. Security Council 

b. Trusteeship Council 

c. General Assembly 

d. World Bank 

Ans : c 

 

 

76. Postal Voting is other wise called: 

a. external voting 

b. secret voting 

c. plural voting 

d. proxy voting 

Ans : d 

 

 

77. The Common Wealth of Independent states (CIS) consists of....republica? 

a. 10 

b. 11 

c. 12 

d. 13 

Ans : c 

 



 

78. Which of the following harbours is considered as the world's finest natural harbour? 

a. Sydney harbour 

b. Toronto harbour 

c. New Jersy harbour 

d. Singapore harbour 

Ans : a 

 

 

79. Who invented Radar? 

a. Henrey Backquerel 

b. Max Planck 

c. Robert Watson Watt 

d. Humphrey Davy 

Ans : c 

 

 

80. Sandal Wood trees are mostly found in... 

a. Trophical Evergreen Forests 

b. Tropical most Decidous 

c. Alpine forests 

d. Trophical Thorn Forests 

Ans : d 

 

 



81. The first country to legalise medically assisted suicide is 

a. Switzerland 

b. New Zealand 

c. USA 

d. Netherlands 

Ans : d 

 

 

82. The tomb of Babur is at 

a. Kabul 

b. Lahore 

c. Multan 

d. Larkhana 

Ans : a 

 

 

83. The joint session of the two houses is presided by 

a. the speaker 

b. the president 

c. chairman of Rajyasabha 

d. none of these 

Ans : a 

 

 

84. The Gandhara school of Art was influenced most by the 



a. Greeks 

b. Shakas 

c. persians 

d. Kushans 

Ans : a 

 

 

85. The Simon Commission was appointed in 

a. 1927 

b. 1928 

c. 1929 

d. 1930 

Ans : c 

 

 

86. Sikkim became a full fledged state of the Indian Union, in the year ? 

a. 1972 

b. 1973 

c. 1974 

d. 1975 

Ans : d 

 

 

87. Who is the founder of Mahabalipuram ? 

a. Rajaraja Chola 



b. Mahendra Varman 

c. Narsimha Varman 

d. Narsimha Chola 

Ans : c 

 

 

88. The 189th member of United Nations is 

a. Palau 

b. Tuvalu 

c. Soloman Islands 

d. Nauru 

Ans : b 

 

 

89. When was Burma separated from India 

a. 1947 

b. 1942 

c. 1937 

c. 1932 

Ans : c 

 

 

90. Which of the following country has more than 55,000 lakes? 

a. Poland 

b. Denmark 



c. Finland 

d. Norway 

Ans : c 

 

91. Which of the following elements are present in all proteins? 

1. Carbon 

2. Hydrogen 

3. Oxygen 

4. Nitrogen 

(a) 2 and 3 

(b) 1, 2 and 4 

(c) 1, 3 and 4 

(d) l, 2,3and 4 

Answer: d 

 

92. The main difference between raw soyabeans and cooked soyabeans is in respect of 

(a) Calorific value 

(b) Amino acid composition 

(c) Protein content 

(d) Biological value of proteins 

Answer: c 

 

93. Oranges are rich source of 

(a) Carbohydrates 

(b) Fats 



(c) Proteins 

(d) Vitamins 

Answer: d 

 

94. Persons suffering from gout 

(a) Are given high doses of insulin 

(b) Have increased number of red blood cells in their body 

(c) Have too much acid in their blood 

(d) Are given vitamin B complex to regain the loss of body weight 

Answer: c 

 

95. In which of the following types of diseases can X-ray be used as a treatment? 

(a)Pathological 

(b) Cancerous 

(c)Cardiovascular 

(d) Psychological 

Answer: b 

 

96. Which of the following toxic gases in the environment lowers the resistance to pneumonia in human 
beings? 

(a)Sulphur dioxide 

(b) Nitrogen dioxide 

(c)Carbon dioxide 

(d) Hydrogen chloride 

Answer: a 

 



97. Match the following: 

Pulse Protein % 

A. Cow pea 1. 22.9 

B. Rajmah 2. 43.2 

C. Soyabean 3. 24.1 

D. Dry peas 4. 19.7 

ABCD ABCD 

(a) l 4 3 2 (b)1 234 

(c) 3 1 24 (d) 4312 

Answer: c 

 

98. Which of the following diseases is inheritable? 

(a)Leukemia 

(b) Color blindness 

(c) Malignancy 

(d) Hepatitis 

Answer: b 

 

99. Which of the following has the lowest carbohydrate content? 

(a) Rice 

(b) Millet 

(c) Sorghum 

(d) Ragi 

Answer: d 

 



100. Which of the following is of the highest nutritive value? 

(a) Arhar 

(b) Maize 

(c)Soyabean 

(d) Groundnut 

Answer: c 

 

101. A pregnant woman is advised to undergo abortion if she contracts a disease called 

(a) Measles 

(b) Small pox 

(c) Chicken pox 

(d) German measles 

Answer: d 

 

102. Staple food crops, such as potatoes, are low in 

(a) Starch and vitamins 

(b) Protein and oil 

(c) Sugars and carbohydrates 

(d) Vitamins and minerals 

Answer: b 

 

103. A boy suffers from color blindness. It is a/an 

(a)Infectious Disease 

(b) Virus Disease 

(c) Disease due to Fungal Infection 



(d) Genetic Disease 

Answer:d 

 

104. Which of the following is least infectious? 

(a) Leprosy 

(b) Hepatitis 

(c) Tuberculosis 

(d) Conjunctivitis 

Answer: b 

 

105. Which of the following is not a mosquito borne disease? 

(a)Dengue fever 

(b) Malaria 

(c) Sleeping sickness 

(d) Filariasis 

Answer: a 

 

106. A mirage is the result of 

(a) fluctuation in refractive index of the atmosphere with height 

(b) increase in refractive index of the atmosphere with height 

(c) decrease in refractive index of the atmosphere 

(d) refraction of light through air having very large temperature gradients 

Answer: d 

 

107. Which of the following pairs is correctly matched? 



Disease Causative agent 

(a) Scabies Entamoeba hisiolytica 

(b) Pneumonia Sarcoptes sps. 

(c) Filaria Wuchereria bancrofti 

(d) Tetanus Haemophi pertussis 

Answer: b 

 

108. Which of the following are correct? 

1. Nicotine occurs in tobacco plant. 

2. Morphine occurs in green buds of poppy plant. 

3. Cocaine is used as a local anesthetic. 

(a) l and 2 

(b) 2and 3 

(c) l and3 

(d) 1, 2 and 3 

Answer: c 

 

109. The best method for improving the nutrient composition of a diet is by 

(a) Combining various foods 

(b) Use of sprouted cereals & pulses 

(c) Use of boiled foods 

(d) Use of processed foods 

Answer: a 

 

110. Which of the following has been found useful in keeping cholesterol level down? 



(a)Tulsi 

(b) Turmeric 

(c)Garlic 

(d) Serpentina 

Answer: c 

111. Which fruit can diabetic patients eat freely? 

(a)Banana 

(b) Guava 

(c)Orange 

(d) Mango 

Answer: c 

 

112. Which of the following statements is true with respect to Leukemia? 

(a) Number of RBCs increases in blood. 

(b) Number of WRCs increases in blood. 

(c) Number of both RBCs and WOCs decreases in blood. 

(d) Number of WBCs decreases in blood. 

Answer: b 

 

113. The injection of anti -toxin is given to prevent 

(a) Tetanus 

(b) Tuberculosis 

(c) Typhoid 

(d) Malaria 

Answer: a 



 

114. Which of the following results from the germination of pulses? 

1. Increase in thiamine 

2. Increase in riboflavin 

3 Increase in Vitamin C 

(a) 1 and 2 

(b) 2and 3 

(c) 1and 3 

(d) 1,2and 3 

Answer: a 

 

115. Which of the following diseases is/are likely to spread in the entire community if a leaky septic tank 
contaminates the water supply? 

1. Cholera 

2. Typhoid 

3. Tuberculosis 

4. Leprosy 

(a) l only 

(b) l and2 

(c) 1,2and4 

(d) 2, 3 and 4 

Answer: b 

 

116. Ready source of energy available for athletes is 

(a) Carbohydrates 

(b) Fats 



(c) Proteins 

(d) Vitamins 

Answer: a 

 

117. Milk, cheese and eggs are the source of vitamins? 

(a) B and C 

(b)A and C 

(c)C and D 

(d) A and D 

Answer: d 

 

118 Which of the following contains a water sol neurotoxin which causes lathyrism? 

(a)Masoor 

(b)Urd 

(c) Moong 

(d)Kesari 

Answer: d 

 

119. Which of the following is termed as good cholesterol? 

(a)HDL 

(b) LDL 

(c)LSD 

(d) BHC 

Answer: a 

 



120. Prolonged consumption of pigeon pea (arhar or tur dal) adulterated with kesari dal (Lathyrus 
sativus) leads to 

(a) Glaucoma 

(b) Liver cirrhosis 

(c) Paralysis 

(d) Dropsy 

Answer: c 

 

121. Who are likely to get tapeworms? 

(a)Meat eaters 

(b) Pork eaters 

(c)Beef eaters 

(d) Fish eaters 

Answer: b 

 

122. Which element in human diet is considered a major cause of heart disease? 

(a) Cholesterol 

(b) Carbohydrates 

(c)Proteins 

(d) Fats 

Answer: a 

 

123. A girl ate sweets while fanning the flies away. Due to this, she suffered from a disease diagnosed as 

(a)Kwashiorkor 

(b) Tuberculosis 

(c)Diptheria 



(d) Cholera 

Answer: d 

 

124. AIDS stands for 

(a) Acquired Immune Defective Symptom 

(b) Acquired Immune Deficiency Symptom 

(c) Acquired Infection Deficiency Syndrome 

(d)Acquired Immune Deficiency Syndrome 

(e) Abnormal Immune Deficiency Syndrome 

Answer: d 

 

125. Which of the following is a water borne disease? 

(a)Tuberculosis 

(b) Cholera 

(c) Influenza 

(d) Malaria 

Answer: b 

 

126. The virus of AIDS affects the growth of 

(a) Hemoglobin 

(b) RBCs in blood 

(c)T cells in blood 

(d) Grey cells in brain 

Answer: c 

 



127. Tetracycline is used 

(a) For air purification 

(b) As a pest killer 

(c) As anti-plague drug 

(d) As a preservative 

Answer: c 

 

128. Refrigeration is a process in which the decomposition of food 

(a) Retarded 

(b) Stopped 

(c) Speeded up 

(d) Delayed 

Answer: d 

 

129. Thought, feeling and perception get altered when one is under the influence of 

(a) Amphetamines 

(b) Tranquilizers 

(c) Morphine 

(d) Hashish 

Answer: d 

 

130. An ideal godown for storing food grains is the one which keeps the grain 

(a) With constant air circulation 

(b) In proper humidity 

(c) Cool and free from pest 



(d) In well-lighted condition 

Answer: c 

 

131. The human body is immune to which disease? 

(a) Jaundice 

(b) Diabetes 

(c) Small pox 

(d) Tuberculosis 

Answer: c 

 

132. Mother’s milk is preferred to cow’s milk because it contains 

(a) More fats and more lipids 

(b) Less fats and less lipids 

(c) More lipids and less fat 

(d) More fats and less lipids 

Answer: b 

 

133. Which of the following are affected by AIDS? 

1. Blood circulatory system 

2. Nervous system 

3. Immune system 

4. Respiratory system 

(a) l, 2and3 

(b) 2,3and4 

(c) 1, 2and4 



(d)1,3and4 

Answer: d 

 

134. Which of the following chemicals is used for preserving fruit juices? 

(a) Ammonium sulphate 

(b) Sodium hydroxide 

(c) Sodium benzoate 

(d) Potassium nitrate 

Answer: c 

 

135. Which of the following is not a cereal? 

(a) Rice 

(b) Mustard 

(c) Barley 

(d) Maize 

Answer: b 

 

136. UP-308 is a variety of 

(a) Wheat 

(b) Rice 

(c) Millet 

(d) Cotton 

Answer: a 

 

137. Which of the following is adapted to grow in dry places? 



(a) Hydrophytes 

(b) Helophytes 

(c) Xerophytes 

(d) Sciophytes 

Answer: c 

 

138. Cotton fiber is rooted from 

(a) Leaf 

(b) Root 

(c) Stem 

(d) Seed 

Answer: d 

 

139. Plant identical to mother plant can be had from 

(a) Seeds 

(b) Stem cutting 

(c) Both of these 

(d) None of these 

Answer: c 

 

140. The biological process accomplished in preparing wine from grapes is very similar to the one 
involved in the preparation of 

(a) Curd from milk 

(b) Cream from milk 

(c) Quinine from cinchona 

(d) Penicillin from penicillium 



Answer: a 


